RECOMMENDATION TABULATION

ITB #:	19-025N		Tentative Board Meetin	g Date*: JUI	NE 12, 2018	
ITB Title:	SERVICE AND REPAIR OF SEWI	ING MACHINES	# Notified:	119	# Downloaded:	4
			# of Responses Rec'd:	1	# of "No Bids":	0
For:	VARIOUS SCHOOLS/DEPARTMI		ITB Opening Date :	MAY 7, 2018	8	
Fund:	(School/Departme	ent)	Advertised Date:	APRIL 10, 20	018	
			_			
Warehousing Servaffected by the decidecision. The form failure to file a form formal written protourement & Warehouse an intended decision County, Florida, (S 3320, Part VIII, Putter (*) The Cone of date stated above IN ORDER TO M	IB RECOMMENDATION/TABUL ices and www.Demandstar.com on Maision or intended decision shall file a not all written protest shall be filed within mal written protest shall constitute a way est shall state with particularity the fact is closed shall be excluded in the comprehousing Services, 7720 West Oaklan on shall post with the School Board, at BBC), in an amount equal to one perce rechasing Policies, Section N, within the Silence, as stated in the ITB / RFP e is tentative. Confirm with the Pure RECOMET THE NEEDS OF SBBC, BID STING ALL SPECIFICATIONS, TERM	AY 11, 2018 @ 3:0 Detection of protest, in we ten (10) days after aiver of proceedings ts and law upon which apputation of the 72-d Park Boulevard, South the time of filing the time (1%) of the estime the time allowed for for the time allowed for form the time of the processing Agent of the the time allowed for form the time all	20 pm and will remain posted riting, within 72 hours after the the date the notice of protest is under this chapter. Section 1 ich the protest is based." Satur hour time period provided. Figure 323, Sunrise, Florida 333 are formal written protest, a boated value of the contract. Fail illing a bond shall constitute a BID, is in effect until it is appreced for the actual date to the contract. Table 1000 TABULATION DED BY ITEM TO THE LO	I for 72 hours. e posting of the is filed. Failu: 20.57(3)(b), Fl days, Sundays, lings shall be a 51. Any person nd, payable to ure to post the waiver of the r pproved by Sl he Cone of Si	Any person who is ade notice of decision or in reto file a notice of propertion of the state holidays and days at the office of the Diran who files an action promised the school Board of Education of the bond required by SBBC right to protest. BBC. The Board median of the bond required by SBBC and the school board of the bond required by SBBC and the school board of the bond required by SBBC.	lversely ntended totest or nat "The s during ector of otesting Broward C Policy
DIDDER(S) MEE	TING ALL SI ECHICATIONS, TERM		ING MACHINES, INC.			
DATE DED INCDE			ind macinites, inc.			
RATE PER INSPE LABOUR RATE F	PER HOUR FOR REPAIRS -	\$20 \$56				
1. CONSERV, BL. 2. CHANDLER BI 3. PFAFF SEWING 4. SINGER 200, 8: 5. JUKI SEWING 6. BROTHER SEV 7. COMET BLIND 8. ELNA SEWING 9. WHITE, BERNI 10. VIKING SEWI 11. NEW HOME-J THE TENURE OF	32 AND CENTURION 1200 SEWING MACHINE AND SERGER VING MACHINE DISTITCH SEWING MACHINE G MACHINE INA, SINGER, BABYLOCK, MELECTING MACHINE IANOME MACHINE IANOME MACHINE IANOME MACHINE IANOME MACHINE ITHE CONTRACT IS REDUCED TO IOD: JULY 1, 2018 THROUGH JULY	O AND MEMORY O O ONE (1) YEAR B Y 31, 2019.	CRAFT SEWING MACHINE ECAUSE ONE (1) BID WAS	RECEIVED.		
Ву:	Karlene G	trant (gent)	Da	ite:	MAY 11, 2018	

The School Board of Broward County, Florida, prohibits any policy or procedure which results in discrimination on the basis of age, color, disability, gender expression, national origin, marital status, race, religion, sex or sexual orientation. Individuals who wish to file a discrimination complaint, may call the Executive Director, Benefits & EEO Compliance at 754-321-2150 or Teletype Machine (TTY) at 754-321-2158.

Individuals with disabilities requesting accommodations under the Americans with Disabilities Act (ADA) may call the Equal Educational Opportunities (EEO) at 754-321-2150 or Teletype Machine (TTY) at 754-321-2158.



Bidder Info	
Company Name	Sunrise Sewing Machines, Inc.
Company Representative	Joshua Becher

ITEM 1 - Line Items

Annual Service Inspection of Sewing Machines to include labor, materials and transportation as outlined in specifications. Bid shall be awarded by ITEM to the lowest responsive and responsible Bidder(s) meeting all specifications, terms and conditions.

PLEASE REFER TO SECTION 6 FOR BID SPECIFICATIONS.

Item#	Description	Unit of Measure	Quantity	Unit Price	Total Price
	Annual Service Inspection of approximately seven (7) Conserv,				
	Blindstitch Sewing Machines to include labor, materials and				
1	transportation as outlined in specifications.	Per Inspection	7	20	140.00
			7		
	Labor Rate for repairs per bid specifications	Per Hour	7	56	392.00
	Parts Cost Discount	Percentage	20%		
	Taris out Discount	1 ordentage			
	Warranty Period on repairs/service	# of Days	30		
			1		
	Number of qualified technicians	Number	1		
	Number of loaner units (if any) at no charge to SBBC	Number	0		
	J, J, J				
	Annual Service Inspection of approximately one (1) Chandler				
	Blindstitch Sewing Machine to include labor, materials and				
2	transportation as outlined in specifications.	Per Inspection	1	20	20.00
	Labor Data francisco contidado o "Francisco"	Dayllaus	1	F/	F/ 00
	Labor Rate for repairs per bid specifications	Per Hour	'	56	56.00
	Parts Cost Discount	Percentage	20%		
	Warranty Period on repairs/service	# of Days	30		
	Number of qualified technicians	Number	1		
	Number of qualified technicians	Number	· ·		
	Number of loaner units (if any) at no charge to SBBC	Number	0		
	Annual Service Inspection of approximately nine (9) Pfaff Sewing Machines to include labor, materials and transportation as outlined				
3	in specifications.	Per Inspection	9	20	180.00
	<u>'</u>	1 of maposition			100.00
	Labor Rate for repairs per bid specifications	Per Hour	9	56	504.00
	Parts Cost Discount	Percentage	20%		
	Warranty Period on rapairs/son/iso	# of Davis	30		
Summar	Warranty Period on repairs/service	# of Days	30		

Bid Summary Sheet



	Number of qualified technicians	Number	1		
	Number of loaner units (if any) at no charge to SBBC	Number	0		
4	Annual Service Inspection of approximately seven (7) Singer 200, 832 and Centurion 1200 Sewing Machines to include labor, materials and transportation as outlined in specifications.	Per Inspection	7	20	140.00
	Labor Rate for repairs per bid specifications	Per Hour	7	56	392.00
	Parts Cost Discount	Percentage	20%		
	Warranty Period on repairs/service	# of Days	30		
	Number of qualified technicians	Number	1		
	Number of loaner units (if any) at no charge to SBBC	Number	0		
5	Annual Service Inspection of approximately twenty (20) Juki Sewing Machines and Sergers to include labor, materials and transportation as outlined in specifications.	Per Inspection	20	20	400.00
	Labor Rate for repairs per bid specifications	Per Hour	20	56	1,120.00
	Parts Cost Discount	Percentage	20%		
	Warranty Period on repairs/service	# of Days	30		
	Number of qualified technicians	Number	1		
	Number of loaner units (if any) at no charge to SBBC	Number	0		
6	Annual Service Inspection of approximately one (1) Brother Sewing Machine to include labor, materials and transportation as outlined in specifications.	Per Inspection	1	20	20.00
	Labor Rate for repairs per bid specifications	Per Hour	1	56	56.00
	Parts Cost Discount	Percentage	20%		
	Warranty Period on repairs/service	# of Days	30		
	Number of qualified technicians	Number	1		
	Number of loaner units (if any) at no charge to SBBC	Number	0		

	Annual Service Inspection of approximately one (1) Comet Blindstitch Sewing Machine to include labor, materials and				
7	transportation as outlined in specifications.	Per Inspection	1	20	20.00
	Labor Rate for repairs per bid specifications	Per Hour	1	56	56.00
	Parts Cost Discount	Percentage	20%		
	Warranty Period on repairs/service	# of Days	30		
	Number of qualified technicians	Number	1		
			0		
	Number of loaner units (if any) at no charge to SBBC	Number	0		
8	Annual Service Inspection of approximately two hundred and five (205) Elna Sewing Machines to include labor, materials and transportation as outlined in specifications.	Per Inspection	205	20	4,100.00
	Labor Rate for repairs per bid specifications	Per Hour	205	56	11,480.00
	Parts Cost Discount	Percentage	20%		
	Warranty Period on repairs/service	# of Days	30		
	Number of qualified technicians	Number	1		
	Number of loaner units (if any) at no charge to SBBC	Number	0		
	Number of loaner units (if any) at no charge to 3bbc	Number			
	Annual Service Inspection of approximately sixty (60) White, Bernina, Singer, Babylock, Meleo and Memory Craft Sewing				
9	Machines to include labor, materials and transportation as outlined in specifications.	Per Inspection	60	20	1,200.00
	Labor Rate for repairs per bid specifications	Per Hour	60	56	3,360.00
	Parts Cost Discount	Percentage	20%		
		,	30		
	Warranty Period on repairs/service	# of Days	30		
	Number of qualified technicians	Number	1		
	Number of loaner units (if any) at no charge to SBBC	Number	0		
	Annual Service Inspection of approximately sixty (60) Viking				
10	Sewing Machines to include labor, materials and transportation as outlined in specifications.	Per Inspection	60	20	1,200.00
	Labor Rate for repairs per bid specifications	Per Hour	60	56	3,360.00
	Parts Cost Discount	Percentage	20%		
		Ü			

Bid Summary Sheet Page 4 of 6



	Warranty Period on repairs/service	# of Days	30		
	wallanty i choa officpalis/scretce	# Of Days			
	Number of qualified technicians	Number	1		
	Number of loaner units (if any) at no charge to SBBC	Number	0		
	Annual Service Inspection of approximately one hundred and fifty				
	(150) New Home-Janome Machines to include labor, materials and				
11	transportation as outlined in specifications.	Per Inspection	150	20	3,000.00
	Labor Rate for repairs per bid specifications	Per Hour	150	56	8,400.00
	Parts Cost Discount	Percentage	20%		
	Warranty Period on repairs/service	# of Days	30		
	Number of qualified technicians	Number	1		
	Number of loaner units (if any) at no charge to SBBC	Number	0		

Bid Summary Sheet Page 5 of 6



Additional Information 19-025N

Service and Repair of Sewing Machines

Bidder Info	
Company Name	Sunrise Sewing Machines, Inc.
Company Representative	Joshua Becher

Additional Information & Services						
Description	Unit of Measure	Price Per Unit of Measure				
Brother 6 Needle Embroidery Machines - inspection	Per Inspection	\$20.00				
Brother 6 Needle Embroidery Machines - labor rate for service/repair	Per Hour	\$140.00				
Barudan 15 Needle Embroidery Machine - inspection	Per Inspection	\$20.00				
Barudan 15 Needle Embroidery Machine - labor rate for service/repair	Per Hour	\$140.00				
Melco Amaya Bravo 16 Needle - inspection	Per Inspection	\$20.00				
Melco Amaya Bravo 16 Needle - labor rate for service/repair	Per Hour	\$140.00				

Bid Summary Sheet Page 6 of 6